Y
141'5 |o,5|(?°”' N

ames A nauit-1es / ime,
)

-t
_ t° Comp oundk Twnderest
A-= 1T>(l+r,\)£/l;ws P
fired  initd ) N dhets 1o
A woundt m+:.«-¢$+
Omeunt  Amom i§ tomponnded P"‘W/\/Rhﬂlud Percesiage.

@x 1) %5200 —» bark account : 3251 AR, 6 years, Gt
'HU“’ wedh wall nm hore ot Haenk of ( Ue‘,._s?

A =P\ L) oo l+'°j")q'°r(*éo7l.77>

. —S500 0O
’ l—bw wuadh \ndevest WAS earned 7 _—

G lortaD
Cx L> SCC_ #( ... inlerestis wafouhdei COY\'l'i'\lA.ov\.Sla .

A=Pe " =soo0e™ - FeomesD

o

Awmiﬂ'ei- Seque nce ok equal pooymerts hede at equal
Tive poriohs. ex) mbrtgase, Car pauments,

ban b account-
Present Aty Fche Anuuity
P PE - (1 %)'j E=P [,U’f BE j
?"\’?m PIJ"‘% " E\?‘{& -%
Sx) Bw.s & lhouse & Cane up o Sometar
oc o car EOD) ntht i or T twant. O

N Ccertain $$6 For cet omodt




eX 3) bﬁ\w\ Can o6 $200 P Mentin -Poe A Cor:
gcar loan @ S.S7. APR . Hovo vudh can
e Car cost?
—2°S

T-um‘] P w, (l+‘;f

How vk doeg b \a.«\ 1 . =Q)%70.SD
— %200 \135=@@

Qx*—l) 3\15'\'\& \)w‘js o Wense ‘r'-(oo ,00D,
4s1. e oueas . What & his hwn\-(c.(u\ Pﬁm\}n ote ?

P-:. P _\l"’ C \+ %Y“j L(OO,OOD = P l (H— 24
n ] G)(_,_S.
PEGYSIRTD -

"\'O\o\l Wwdn d,ots j—us-l-ln out over e CowSe
o L — $3.51 T x \‘Z.XBD@ GZGE




